HIGHON TT08d

INIMVEG STIVTTY

HY 42 101 - OIHWL

974

1231084 40 3L H m EXS

133HS

24902 /
LHOIIM |NOISIATY
ONVITIOL
syz130 M N1 38 snoisvawia 11| 0202/ 11/ 7
G31419395 ISIMIIHLO SSTIN a1va

2/
F2dL0I-HW1
YIGHIN LV

9 1
mw._.moomn_wm_

8
2

2= 0202/11/92)

NIYLIY G

Ag aIN0¥IdY

Tl V1 ozoznssg

NOSI¥OW M

Ag aINIIH)

% 202/11/ 72| INSMIFVIONIN "L

Ag NMvEq

% 0202/11/61| INSMIrVIONIW "L

Ag @3N9ISIq

ATGWISSY TVHINTD

1YVd 40 FTLIL

FINLYNITS FIvg

THINITS

TVI4ILY I

SIN

37798

g

—

_ THh

L T 1

==

VO

£9

08¢

KXJ@

‘NIW 098

£9

/1€

992

194

662

o</




WSV 1810d NJ ]

SFENIN 71308

NIMYHq S30VIaF

1231044 40 37111 M ﬁ

974

521 133HS

W L1l /
LHIIIM |NOISINZY

Vo370,
|saLanmm w 2sv sworsvawa 11v | OZ02/11/£2

031910345 FSIMETHLO SSTINA 2va

8/1

ONILAIN .ﬁ&
¥31500Y a3

- ”....uwavu.__..

2|

ozoe/il/ee|  NaALY g

Ag aIN0dddy

Tl V) ozoz/msse| nosuwon m

Ag a3NI3H)

==

202/11/€2|  NVILOW O

AG NMVEG

i A

0202/11/81|I4SM3CV 10NN L

Ag aanois3g

Nna 0/-HW1
YIGWIN L¥vd

1IN IN&G

L3V 40 F1LIL

FHLYNITS

ENZd

FHYNES

TVIYFLY N

SIN

37798

NOSISH0W M| 120272071 |1

G308V | F1va [EE]

AHOLSIH NOISINIS

a 0/-HW1




Sy 18nog N 9]
&2 SSINHIN0Y FIVAINS

YIGNON T71408d

oGO F SVININY

974

521 133HS

1231044 40 37111 M ﬁ

| F 000/ ¥3/0 -
NINLI Ag GIN08dd)
%9 M mmm m mw mm\m Mm% oNMYHG STOVTHTY 0202/11/22) v g g v
0F . P AT A e - .
TOF 0 01 a0 G 20 oM L/l / - 4, | 0202711752 NOSI¥SOW M | AG GINIFHD
sy LH9ITM |NOISINZY ONILEIT 0202/11/52] NYOMOW O | AG NMYSG
suaLann v 2wy swoisvawa v | 0Z02/11/€E
03141934S FSIMYTHLO SSTINA vg m m |—| m D 0 m D m m 0202/11/81\INSMIrvIONIW "L | AG GIN9ISIG
8/2 TLVROIS SWYNS
Nna 0/-HWL 1IN FNING SIN
YIGWAN LIV 1V 40 FTLIL TVISTLY I ElES

642

88/

LT

_/— §7

£eg

992

/1€

Nid 801 v&d343S NIVHD 071/0£927 / 7
FTddIN FTYW ,8/] 0L FTVW .,8/] 2020-00/ 7 97
MOg73 FTVW3 ,8/] dINZ0TTH 7 G7
MO&7T LIS HSNd WW9 0L TV 4S8 .8/ SNI0-90720Y 7 77
0 (OI-HWL 8 000£-HW1) 13¥0Vag INVANIS /0-83d / £7
SZXO0IW M3IHIS dvD aVIH L3408 NOIVXIH §200121€1 7 27
YW LON 11 70010575/ / /7
92X 7 M3FIS VD VIH 134005 XIH 8207015] / 07
INIFIS HOOH 9702080¢/ / 6<
MVT) A134VS YOOH 0£7068027 / 8e
OIW LON 17 910105 7¢/ Z /£
O/ FFHSYM INIFIS 9/010£1¢] Z 9¢
Nid J3ONVH 09VE0£92Y Z g€
HIHSYM 0840927 Z 7€
09XZIW M3¥IS VD) avaH 134208 XIH 09021£1€] Z £e
YOOH 125£0£927 / 1%
32314 ANF YOOH 0£65828527 Z £
ZEXY7 Nid 177dS 2£0%70/051 / 0g
Nid N3 NIVHD 08X10£927 / 62
OIW 40N 11 01010571 / 82
OIW YFHSYM 010£0£7€1 / 42
O0LIXOIW MIHIS dVI AVIH LINI0S NOIVXIH 0£10/£1£1 / 92
14VHS J1Vd 135 NIVHD 08X10£927 Z SZ
GEXG Nid 117dS $£050/0¢] < 77
F7ANIdS 135S NIVHD 09XC0£927 / £2
g ¥3NTT LIWIT 0ZNE8Z852Y7 / 2z
/1 ¥3AF7 LiIWIT 0IN828GZY / 2
H0123INNOD GNF NIVHD 0/X/0£927 / [
9X9W MIYIS L3S 1IHI0S XIH 20090121 Z 6/
O/ YFHSYM INIJIS 9/00/£1€] g 8/
O07IX9IW MIHIS VD aVIH LINI0S NOIVXTH 0719141€1 g 1
F1Vd 135 NIVHD 07XE0£927 / 9/
HOLVYIIIS NIVHI 074£0£927 / S/
100 G109 ONI¥VIg S/08110€1 / i
INITIN0D 002908527 / £/
Nid YIONY 097/0£92%7 £ 2l
¥3IN0) INIFVIG 020828527 / /l
€009 INIgVIg 7007010/ / o/
IAVIHS avoT 0SV828527 / 6
00/-d 9NI-0 £901011¢/ / 8
/-S 9NIM-0 $00£011€1 2 Z
INTVA T04INOD NI 0I-HWL / 9
VENGEENN 06WE2852Y / g
PERZEENIN 08W828G6Z7 / Vi
xog 4v3o 89 0/I-HWL / £
HO1OW ¥IY WV 0I-HWL / 4
3aiN9 NIVHD 05£828527 / /
UEL] NOILdI¥ISTT SFGWIN L&V ALO wW3Ll

LS17 818V Nd 0/-HWL




XSy 18nod NI H/

&2 SSINHINOY 3IVAINS SIGNON 08 M.. -V\
250 F avmony N 1931084 40 F1L11 92/S 133HS
507 800780 006 4o - w22 0202/11/52) Ag a3N08dy
G20 F008§ 04 dn 02Z] ¥310 INIMVEQ SFIVTdIY »
S0 F 07 01 an 0F 8340 g 1 —
;nﬂu@nwﬁm%amnﬁé oy 97 0 W i “ .ARM“\\ v ozoz/mr0e] 48 a3
HET LHO13M |NoISIN3Y ONILAIN 3 == =2 ozznvel Ag NMVEG
P52 saito ssm| QNQN\\\\QM 1va ~”_ m ._. m D 0 N_ D w W_ o 22 | 0202/01/60) Ag aaNoIs3q
171 TILVROIS SIVG
WV 0/-HW1 YOLOW M SIN
YIGWAN LIV 1V 40 FTLIL ElES
GXE Nid INI&IS 500£090¢/ / £y
ZIW 40N 1N 2101087¢] / 27
ZIW &3FHSYM 210£0£1€1 / 17
JINTT 00D 076828527 / 07
0/XG Nid INI¥dS 0/05090¢/ Z 6¢
G-S INIY-0 £00£011€1 / 8¢
9N LINIT 041908627 / L8
0%-H 9Ni& ONINIVIIH 0%70/0£0</ / 9¢
GZXG 2 Nid 117dS 621204051 / s¢
-3 ONI& ONINIVIFY 700£0£05/ 7 7€
LAVHS ¥TTI04 021908527 4 £¢
72609 9NIFVIg 800£010¢1 Z s
§INTT LINIT 071908527 / £
INIHSNG LAVHS LIWIT 07v908627 / 23
92-S INIY-0 120£011€1 Z 62
LAVHS LIWIT 097628527 / &z
9£-S INIY-0 620£011£1 2 /2
SFHSVM LIWIT 061908527 / 92
ZG/122V.L 9NI¥V3g F103IN 9112£10¢1 Z s
7622250 1v3S 1500 £00972/£1 / 72
434SV Y010l 08/2019¢] / £2
9W LN X3H 901£077¢] / 22
0SX9W M3HIS dV) aVIH LINI20S XIH 05090£2¢/ / 2
Z¢-H 9NIY ONINIVIFY 2£0/0£05] / 0z
02-S 9NIY-0 910£011€1 / 6/
82-S INIY-0 220£011£1 7 8/
o YINIVLIY LIWIT 05908527 / Z/
INIHSNG 1004S LIWIT 0£1r90852%7 / 9/
700d4S LIWIT 071908527 / S/
X/ 9XE] DNIFS 922208051 / 7l
1V3S INIYdS 06708927 / £/
&g YANIVLIY LINIT 091908527 / 2l
INIESS 1417 88220801 8 I
YIANITAD 09/90852% / o/
02XG Nid ONIJdS 02050901 / 6
INVA ££0201481 8 8
FLVd INOYS 041908527 / £
FLY IS VI 081908527 / 9
JO W ¥FINTTIS 80X908527 / s
0/09 9NIEV3g 11090/0£1 4 7
0G-S 9NIY ONINIVLFN 06020£0¢/ / <
40108 051908527 / 2
ISV HOLOW 06/908527 / /
NOILdI¥IS3a SFGWIN LSV ALO EN

[ 020Z/11/6] | 0

| Fiva [EE]

AHOLSIH NOISINIS




Sy 1810G NJ 3] - o
&2 SSINHINOY 3IVAINS SIGNON 08 @ W
oS0 F ¥YMONY 1231044 40 37411 92/S 133HS
mmw .w %\%M%mwwmwwm\m 56 ONIMVYQG STV TdTS oy . 0202/1l/52) NIV 6 48 aanosddy
w\.w«k%n\ 5 mw\wﬁo W/ 0 gt v . 0202/11/02| NOSIHHOW M | AG GINIIHD
S00F § oldn - i “ .
sy LHOIIM |NOISINZY ONILAIN 3 0o wvosow © | g nmvea
N 0 7 —
P52 saito ssm| QNQN\\\\QM 1va ﬂ- m ._. m O 0 N_ D w H_ B 22 | 0202/01/60  WYOMOW O | AG aanois3g
171 TILVROIS SIVG RS
89 0/I-HW1 xog ¥v3i9 pr— SIN
YIGWAN LIV 1V 40 FTLIL TVISTLY I ElES
SY7/-S 9NIY-0 §90£011€1 / /7
O7X9W MIYIS dV) avIH LINI0S XIH 070904/1£/1 v 4
GXG M3¥0S 135 13%00S XIH G008012¢€1 Z 6¢
dIN0D NV 017908527 / 8¢
GGZ-89GSV INIY-0 sec/iliel / /8
6 ZX6 |2XG 02 INI¥LS 6222080%] 8 9¢
NOLSId INVHE 007908627 / ¢
FRERIEE 0£7908527 / 7¢
GIX9W MIYIS dvD aVIH LINI0S XIH §2090/1€1 v £e
GE/-S INIY-0 £90£011¢/ / ¢
272-89GSYV INIY-0 272LI1E] / £
FLVd IAVEG 006908527 / 0¢
ZZ£009 9NIdV3g 700901051 / 62
C009 9NI¥VIg 700%70/10£1 / 82
GI=S 9NIY ONINIVLI S1020£0¢] £ 22
7IW YFHSYM 710£0£1€1 £ (24
Z2ISIV.L 9NIdvIg FTaIIN £161€10£] £ [
¥V VIS 1SdI 0LV90852%7 £ 72
Nid 15414 08V908527 £ £2
NOINIJ GNOI3S 029828527 / 22
HVID ONIY LSS 013908527 / 2
6069 9NIIVIG 6005711081 / oz
0£1-89GSV INI&-O oLILINEl / 6/
ONI¥JS YSIg GINOD 057/10£927 / 8/
ovI9 TYNYILN/ GNOIFS 09WI0£92Y7 / Z/
L4VHS &V39 370/ ANOI3S OSWI0£92Y £ 9/
0252y INI¥vIg F1a3IN 026210/ £ Sl
JVIH JVIS ANOITS 0£382852%7 £ 7/
NOINI GdIHL 02X)828527 / £/
JFOVLS dVID TYNYILN] 09X)10£927 / 2l
7209/ INI¥VIE ¥209110£1 Z 1
LJVHS &vI9 370] G¥IHL 0SNI0£9Z T £ ol
7069VNY 9NIEVIE FTdIIN 70608101 £ 6
IVI9 YVIS GHIHL 0£N82862Y7 £ 8
EEL®) 092828527 / £
YVI9 TVNYTLN] GHIH] O9NI0£9ZY / 9
/-S 9NIY-0 G00£011€1 o/ g
10d GIZ9 INIFvIg $125110/ / 7
&IN0D 3AINY NIVHD 08110£927 / £
NOINIJ 1S¥1H 09V828527 / 4
ESAETER) 01£828527 / /
VEE] NOILdI¥IS3d SFGWIN LoV ALOD EN
1S/7 S14vd

NIWITY g | 0202/11/6] | 0

G308V | F1va [EE]

AHOLSIH NOISINIS




YSv 18nog N 3] -
&2 SSINHONOY FIVAINS SIGHNN 108 @ W M)-V\
250 F avmony N 1931084 40 F1L11 92/S 133HS
o7 doo % b0c vamo " W o02/1/C2 NIMLIY G Ag 310844y
G20 F008§ 04 dn 02Z] ¥310 INIMVEQ SFIVTdIY »
S0 F 07 01 an 0F 8340 5 —
[ A A i o 1€/ 0 e B e as . Tl V) 0zoz/m08| nosumon m | Ag azwoand
SvaNiT LHOIIM |NOISINTY ONIL4dIT ““ — -
cut 0205/I1/6] 3 o 2| 0202/11/6]  Nvosow O | Ag Mmvag
SYILINITIN NI T4V SNOISNIWIG T77 -
0314123dS ISIMITHLO SSTINA Qw 1vg m m |—| m D 0 m D w m w.mlﬂ\_\|n\N 0202/11/91)  NYO¥OW "0 Ag ainoIs3q
171 TILVROIS SIVG RS
NI O0I-HWL FNTVA TONLINOD SIN
YIGWAN LIV 1V 40 FTLIL TVISTLY I ElES
0SX9W M3YIS VI aVIH LINI0S XIH 08090711 £ £G
SOX9W MIHIS dVD aVIH LFHI0S XIH §9090/1€1 / 28
OXGIW MIHIS aVIH G35SFIFH-SS0HD 9025062¢1 7 /8
HIINFTIS 1071d 090207.£1 / 08
SZX9W MIFEIS VI aVIH LINI0S XIH §2090Z1¢1 v 67
0/XS Nid 9NI¥dS 0105090/ 2 87
SW 40N X3H S02£077¢] 4 47
2ZXGIW MIYIS 138 134208 XIH 22050/2¢] Z [V
7/¢1d 974 AvaH 134205 SIH 110206751 / sy
JD NIHSNg 13N] 899908527 / 77
7£1-89GSV INIY-O 7EIL11€] / £y
/7-H 9NIiy ONINIVIFY £7010£0¢] / 27
92-S INIY-0 120£011£1 / 17
dVD 1N NIV 069908527 / 07
G€-S INIY-0 82001151 / 68
GZ-S 9NI&Y-O0 020£011£1 4 8¢
INTVA LN NIV 089908627 / V4
EXOW MIMIS dV) aVIH LINI0S XIH 80£90/1€/ / 9¢
FIGTOH 1N NIV 00H908527 / 3
1V3S 1NJ NIV £L12019¢€1 / 78
0£0-895SV INIY-O ogozilel £ £e
62-S INIY-0 £20£011€] / €
INIHSNG 11D NIV 049908627 / £
Y3100 ¥3GN] 07908527 / 0§
GXGl M3Y2S 13S 134208 XIH 50080/12¢] 8 62
OX9[J M3¥3S 135 13X%00S X3H 90090/2€] 4 82
13YSVD INTVA 1£12019€] / L2
OIXGW M3YIS aVIH NOLLNg L3YI0S XIH 010506/£1 g (%4
F1VId 1SAVAXT 018908527 / sz
(75) JFONTTIS 9G020%/5] Z 72
() JFONTTIS 75020%/5] / [
(SS) dFINF TS §50207/£1 4 22
0%7-H 9NIY 9NINIVLFY 07010081 2 2
£08086) ONIMVIG 100912071 4 24
VD INTV/ 02v908527 Z 6/
2/-S ONIY 9NINIVLIFY 210205081 2 8/
1V3S INI¥IS 0492908527 2 Z1
9 °ZXZEX9Z ININHS 8222080%] 2 9/
NOLSId 090908527 2 /)
OC-H 9NIY ONINIVIFY 9£0/0£0¢5/ Z 7l
(1) ONIHSNg A TV/ 063908527 / £/
£-S INIY-0 S00£011£1 7 2l
2£-S INIY-0 920£011£1 7 A
(06SH) £1/-89SSV INIY-0 S8l Z ol
G1/-895SV INIY-O SiZier Z 6
INTVA TTLLOIHL 08r90852%7 Z 8
7 IX997X Y 1] ONIIIS £222080¢] Z Z
0£-S INIY-0O 720£011£1 7 9
GXC Nid 9NI¥S G00£09051 7 El
() SNIHSNg FATVA 004908527 / 7
02-S 9NIY-0 9210£011£] Z £
JVD HSng 0£V908527 Z Z
AG08 IATV/ 090908527 / /
N3 NOILdI¥IS3a SFGWIN LSV ALO EN
1S/7 S14vd

NIWITY g | 0202/11/6] | 0

G308V | F1va [EE]

AHOLSIH NOISINIS




Sy 18nog N 9]
&2 SSINHIN0Y FIVAINS

SFENIN 71308

oGO F SVININY
[ F 0001 #310

1231044 40 37111

=

974

521 133HS

AHOLSIH NOISINIS

S50 2605 a1 i 637 515 onmvag s3oviey TR 0ozl wavuv g | 4g amondy
ozl in Eao woez | 0 — - Y ——Y -
S0'0F 5 ol an .. . GV 0z02/1/02) Nosisow M| Ag aawozHD
mvw\iﬁ LHIIIM |NOISINZY ONIL4dIT ﬁ\'m wzozel wwesow o 28 g
SYTLINITA NI 38V SNOISNIWIG TTY
[~ dan3ds Fmaanio sl | QNQN\\\\QM o d31500d d3y ES L 22 | oz0zme| weosow 0 | Ag amorsa
171 TILVROIS E/L77] SWYNS
g8 0/-HW1 ¥o0749 wollog SIN
HIGHON LYV 13V 40 F1IL TVIIILY I
91/14 9n1d XIH 500206 7€/ v
TW LON 11 700105 7€/ /
GIXTI MIFIS IVD GVIH 199903 XIH 820707157 /
INIZIS HOOH 9702080¢/ /
MV1D ALIIVS HOOH 0£7068027 /
9IW LN X3IH 91010771 2
OII JFHSY ONIFIS 91010/E1 Z
SLX9IW M3YIS VD aVIH LINI0S XIH SL091Z11€1 Z
YOOH /25£0£927 /
Y1116 INIYVIG LSNYH] 71121081 /
ONIg 1S/HH1 JOOH 06X£0£927 Z
TIIHM NIVHD 338 04428527 /
1aaiie9 onNvg 11£8110€1 2
Y3070H YOOH J3GN[T 008828527 Z
N3y NOILdI¥I53d SFEWIN LSvd ALO
LS/7 S14vd
NIILIY g | 0202/1l/%2 | 0
G084V | ENZ REE]




$% RED ROOSTER
(. LIFTING

Pendant - VTP2M

D01-P2 REV1 = Red Rooster Lifting Limited = Nauta House, The Meadows, Oldmeldrum, Aberdeenshire, AB51 0EZ = Tel: +44 (0) 1651 872101 =




o
&

RED ROOSTER

LIFTING

Pendant - VTP2M

Fig. No. | Part Number Part Name Parts
Per
Hoist
1 105P M4 X 20 CHEESE HEAD SCREW 2
2 E/STOP/GUARDO1 YELLOW E-STOP GUARD 1
3 113/1P M4 NYLOCK NUT 2
4 BIK3206P-BS54 EMERGENCY STOP BUTTON 1
5 304P 8mm TO 6mm BANJO 4
6 P118 90° ELBOW 6mm 2
7 P112 4 WAY JUNCTION 1
8 301P 8mm TO 6mm REDUCER 1
9 BIK-3209-P-VALVE PENDANT VALVE 2
10 P087 1/8" TO 6mm PUSHFIT 2
1 TP/HOUS/M 2 STATION MACHINED PENDANT 1
12 BIK-3209-294-B-COVER | COVER FOR BIK VALVES 2
13 XAC-B-LEGEND-UP UP LEGEND 1
14 XAC-B-LEGEND-DOWN | DOWN LEGEND 1
15 P245 1/8" TO 6mm BULKHEAD AND NUT 4
16 DRG 2652-01 PLATE 1
17 PO71/1 1/8" BSP NIPPLE C/W CONE 4
18 112P M6 x 20 HEX BOLT 2
19 P117 8mm BLANKING PLUG 1
20 139P M6 NYLOCK NUT 2
21 145P M6 WASHER 2
22 P016/1 1/8" BSP SWIVEL TO 1/4" HOSE TAIL | 4
23 P002/1 1/4" HOSE FURRULE 4

D01-P2 REV1

= Red Rooster Lifting Limited = Nauta House, The Meadows, Oldmeldrum, Aberdeenshire, AB51 0EZ - Tel: +44 (0) 1651 872101 =




$% RED ROOSTER
(. LIFTING

Pendant - VRD-2R

DO01-P7 REV1 = Red Rooster Lifting Limited = Nauta House, The Meadows, Oldmeldrum, Aberdeenshire, AB51 OEZ = Tel: +44 (0) 1651 872101 =




LIFTING

Pendant - VRD-2R

z% RED ROOSTER

Fig. No. | Part Number | Part Name Parts
Per
Hoist
131705008 HEX. SOCKET HEAD CAP SCREW M5X8 | 1
2 420228VRD | PENDANT VALVE ASSEMBLY 1
2A 420218VvB0 | THROTTLE VALVE 2
2B 420228VR0O | VALVE BODY 1
2C 420218VF0 BUSHING 2
2D 420223W40 | LEVER D 1
2E 420223W30 |LEVERU 1
2F 130402053 LEVER PIN 1
2G 130802220 SPRING 6X14X0.6 2
2H 420228W50 | FRONT CASE 1
2J 420228W60 | REAR CASE 1
2L 131705010 HEX. SOCKET HEAD CAP SCREW 1
M5X10
2M 132405014 PHILLIPS PAN HEAD MACHINE SCREW | 3
M5X14
2N 132904220 PHILLIPS PAN HEAD SELF-TAPPING 6
SCREW 4X20
2P 132105005 HEX. SOCKET SET SCREW M5X5 4
2S 131109001 O-RING S-3 (HS90) 2
2T 131103008 O-RING S-10 2
2U 131103009 O-RING S-11.2 2
2V 420224V61 EMERGENCY STOP VALVE 1
2w 420228V50 EMERGENCY STOP BUSHING 1
2X 136690503 EMERGENCY STOP BUTTON 1
2y 420228W00 | PUSH ROD 1
2AA 131103002 O-RING S-5 2
2AB 131103004 O-RING S-6 2
2AC 131103008 O-RING S-10 1
2AD 131103009 O-RING S-11.2 2
2AE 130303004 RETAINING RING E-4 1
2AF 304P 1/8 BSP TO 6MM PUSH FIT ELBOW 1
2AG P118 6MM PLUG IN ELBOW 1
2AH P087 1/8 BSP TO 6MM PUSH FIT 3
2AJ DRG- 2 STATION PENDANT BRACKET 1
SI10394-T2
2AK 113/1 HEX. SOCKET HEAD CAP SCREW 1
M6X16
2AL 113P HEX. SOCKET HEAD CAP SCREW 1
M6X20
2AM 145P FLAT WASHER M6 5
2AN 139P NYLOC NUT M6 2
2AP P245 6MM TO 1/8 BSP BULKHEAD ADAPTOR | 4
2AQ PO71/1 1/8 BSP HEX NIPPLE C/W 60° CONE 4
3 426230F1B | STRAINER WIRE 1
4 1/4-HOSE 1/4 ANTI-STATIC RUBBER HOSE 4
4A P016/1 1/8 BSP TO 1/8 HOSETAIL SWIVEL 8
4B P002/1 1/4 HOSE FERRULE 8

DO01-P7 REV1 = Red Rooster Lifting Limited = Nauta House, The Meadows, Oldmeldrum, Aberdeenshire, AB51 OEZ = Tel: +44 (0) 1651 872101 =



